SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
COMPUTER EDUCATION PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil : District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy §oF “L LW

1. Use separate answer sheet for writing answers and give your personal information on it as well.

S e et o St g S e dedlz:,wf’{. Ll ez

2. Read carefully and attempt all questions.
gL S sl Uy e ra
3. A question can consist of one or more parts.
e (F o L s b e LI L i L

4. Use black/blue ink for writing answers. Use of lead pencil is not allowed.

e et SUE L S G g S 6 £ I L £ in e

I Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1

1/:‘; Jlr
a ) Define data and information with example. (3 Marks)
(//3)-%/'/%/71;(/5()0‘ d/(/“'/f/w ] (a
b ) Define Processing and give any two examples. (3 Marks)
(/:‘;3)_%’, ng’f’u u’&/m u:/b;-:‘/yd/uc:‘}/“ (b

¢ ) List any four advantages of using computer. (4 Marks)

A @) b § a1 dp = 8 & Jiinn £ 20 (€

Question No: 2

2 / J!r
a ) Define Scroll Bar and write the names of its two types. (3 Marks)

(/3)-ﬂ(t£ru!;)JJU;'Q/.@}J/QJ}% (a

b ) Label the given picture. (3 Marks)

3/ S 8§ (b



|

A C
c ) Define Control Button and write the names of Control Buttons. (4 Marks)

G E L S f Sk e

o) )
I  Ehe

Question No: 3
3/:‘; Jlr
a ) Define Typing Tutor and also write its one use. (3 Marks)
(/3)-Jfau"{dlﬁ’!,gt{mmu"/,yfd//”f.fje (a
b ) Write down any four important points to remember while typing. (4 Marks)
- = Al o s e 2 S e (b

¢ ) Write five steps to run a Typing Tutor. (5 Marks)

(5 Frp by Lig 2 e (e

Question No: 4
4 / Jis
a ) List the types of files that can be opened by using Media Player software. (2 Marks)
At F o b 2 £ i sl 2 Jher i § pli S UK G (2
b ) Write the steps to play the audio file from the CD drive. (4 Marks)
(# 4)-uf’id"l/ Lot ST« uscp (b

c ) Label the given figure of Windows Media Player. (4 Marks)

CNIN TN I A

Question No: 5
5/ J!y
a ) Define ISP and give any two examples. (2 Marks)
2 A 535 g ) Sisp (@
b ) Write one difference between Internet and Web Browser. Also write the name of any Web Browser. (3 Marks)
(+# 3)-uf’iu’{ AP ey Lf/m JAJJ} LI~ 5 s i 2 1 (B

¢ ) What are the requirements to access the Internet? (5 Marks)

(F5)u et 5 i L Lo Fuzp (e



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
COMPUTER EDUCATION PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_uﬁyw:ﬁsfﬂ (wa/,lu%JL-!

2) Read carefully and attempt all questions.

_Q/J’amy(l}m uﬁwz:_/);-f

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
= " Z - 7 o .
e VWS BT 2 S S 12 E L e $E 0 2y

Example: The performance of computer depends upon given:

ey T &l d 2ud 1 e

b

5
be
a) Commands % b) Statements u—*“‘\:’/

(©) Instructions =LA d) Keywords )5’/“/(

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L liznl e Lty o

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

AL v o L s e B0 GG U g U el

Question No.1: The machine/device used to convert the data into information is called:
i S Pl g s e Je L LS e e S A s
(a) Scanner /“C (b) Computer /”,:;{ (c) Digital Camera ,,/ﬂ/ i.“j (d) Microphone u,; ,f[‘
Question No.2: Arranging the student names, addresses, subjects and calculating the result is an example of:
e Jed WK E b e e bt £ K 2 Ui
(a) Data (j’;j (b) Information (f&“ﬁ/ﬁ;‘ (c) Process J.t'“,/“ (d) Output Ly bb;,’f
Question No.3: The position of the Function keys on the keyboard is:

e Lﬂ/g d/keys gfé £ 308, J :3/ Jis
(a) Up 2] (b) Down i (c) Middle u&x” (d) Right U:/’)

*
'00

Question No.4: Total obtained marks in an examination can be concluded after:

_ugélgij;méé /u/u“tauﬁut?u :4/Jur

(a) Process W’% (b) Input < Ol (c) Output Ja:, L3 (d) Storage 6’/;&“



Question No.5:

(a) Text file

Question No.6:

(a) My Documents

Question No.7:

(a) My Computer

Question No.8:

(a) Upper Right Corner

(c) Upper Left Corner

Question No.9:

(a) Right

Question No.10:

(a) ¢/
Question No.11:

(a) Copy afile
(c) Edit afile

Question No.12:

(a) Drawing area

Question No.13:

(a) Middle finger of the right hand

(c) Little finger of right hand

Question No.14:

(a) Ctrl+C

Question No.15:

(a) high volume

Question No.16:

(a) Enter

Select the type of file "picture.jpg".

(:’ Jb 'picture.jpg" S/Jtr
J’uisv Sl

) Sound file (d) Program file

Sb g (b)Graphicsiite  f ‘f”;/
In MS Windows, default folder for images and media files is:
e JAP 23 é Z Ur L4823k« MS Windows 26/:} Jiy
uft'”[;j él, (b) My Computer j,:{&(, b
A place which is used to store all deleted files, is called: '
:4‘,812(@.8;“)&5‘“!“&LL//P‘[U:L/GOKJQJ,«,?(L?K,;@I,{I :7/J|f
s B b5 @Mybocuments Y5 L (@ RecycleBin oz L,
Select the position of the Start but;on in MS Windows.
_Q/y;" u“”ng Juf' b U2 MS Windows :8/.'2 Jis
S LSS
S S (d) Bottom Left Corner 4 S

o *~” o ““

(c) Downloads (d) Desktop

J3y (313

(b) Desktop

(b) Bottom Right Corner

0}\
0:\

x\

The default position of Taskbar on desktop screen is:
e u’»/’g LIS J/g Jlﬁ’4 u:/él -l e 9 A Jlr‘

(d) Bottom 2‘_

*
‘“

4 /

L (b) Left 8

Choose the correct option used to represent the drive letter.

g ETE 3 iw Je L LSS 04y

(d)C)

c—

(c) Top 2!

(b) c! (c) c:

Dragging a file/folder is similar to:

e LSS L S A U

/e S (e S S

(b) Paste a file

S kit S (d) Cutafile eSS
The Magnifier tool is located in:
e bl g i 2 AU
Lgl F15  (b)Tools box A5 Oshapesbox /| u-:’ (d) Color box JE

Identify the finger which will press a set of keys “QAZ” while typing.
dpdkeys"Qaz w2 S 2 g S st & o113 A Ui
S8 § 24U Fidpnd AU
RN Sz d AUl

The shortcut key to open an MS Word document is:

e key Sy Jiﬁ/w/!ﬁ MS Word .,Q :14/:‘; J!/

(c)Ctrl+0O (d) Ctrl+V

(b) Middle finger of the left hand

(d) Little finger of the left hand

(b) Ctrl+D

The status of the Volume Control button as shown below is:
_‘al:‘//zWJ(cha uﬁ'dﬁ/”-’/(ﬁ!)y’ygl@r)uﬁdj IIS/JV

<)

(c) mute volume (d) unmute

(b) low volume
volume

Identify the key used to insert a single space between letters.

_Q//&@Jkeydué_ndbx’“!iﬁ'%)uﬁfﬁuy‘nﬁdﬁi :16/:‘;J|r‘

(b) Tab (c) Spacebar (d) Shift



Question No.17: Right-hand fingers are used to press which keys?

et b Jo < L0 rkeys § S U u(ffl( S 17 A Uiy
(- - -

Question No.18: Which key is used to remove a single character in an MS Word document?

e Qb S keys L LS F S AS L T U el MS Word 18 4 Ui
(a) Space (b) Delete (c) Esc (d) Shift
Question No.19: A document after printing is called:

e L“MMLJ.%&4¢&»M.{! 19 2 Jis

(a) Soft copy dE el (b)Special copy GKJ/;“/ (c) Carbon copy J§ (6 (d)Hard copy d{jjll
Question No.20: The software used to play a video file is:

:‘L/:/) - Uy I Jlf:"‘i“i L a_Ug J/b'g,}&} :20/ J!r

(a) MS-Word (b) MS-Powerpoint
(c) MS-Paint (d) Windows Media Player
Question No.21: Select the correct procedure to open the MS Paint program.

S FKPE L L LS S M Paint 21 A s

(a) Start ->All Programs ->Paint

(b) Start ->All Programs ->Accessories ->Paint

(c) Start ->All Programs ->Accessories->System Tools ->Paint
(

)
d) Start ->All Programs ->Accessories->Communication -> Paint

Question No.22: What will you click to save the MS Paint file?
ot FYS Tl L& S5 S F6 EMS Paint 22 # Jis
(a) Edit menu (b) File menu (c) View ;nenu (d) Help menu
Question No.23: Speed of typing is measured in:
_45_[}1? Ql.uf oy J_,Cie’ 23 & Uiy
(a) Characters per minute LA d )/3‘;//’/ (b) Words per minute LA (} L
(c) Characters per second j;? d ;;{/ (d) Words per second j;g d L
Question No.24: The file extension of MS Word document is:
e uﬁﬁ%' J/G d/_w/'j MS Word 224/:’; Jis
(a) .xls (b) .doc (c) .ppt (d) .txt
Question No.25: Identify the following button of Windows Media Player software.

g e S St £ s 3 mh L ks 25 2 iy

O

(a) Forward (b) Rewind (c) Play (d) Stop

Question No.26: WWW is specifically designed to connect people of:
.‘at“flfgj/l'/j“i YEPINT . ’(U/’Jé”b S WWW 26 # Jis
J LJ{

) . G .
(a) Globally j.[{, d/% (b) Nationally _ (c) Locally 4 ¥ U’b‘ Metropolitically *-Ef (_/{3
Question No.27: Identify a feature of the internet that provides audio and video conversation instantly.
e QS I ST 25 L ghs o 3T b 8 2 S et err® 1§ a1 27 £ i
(a) WWW (b) Email
(c) Instant Messaging (d) Chatting
Question No.28 : Which type of line is used by DSL technology?

‘e S U Gud 7 UL DSL 28 £ Ui
(a) Telephone u} Jf (b) Cable J'.‘.f (c) Power 2l (d) Optical fiber /{[5 ﬂf



Question No.29: How many are the basic types of modems?
CUr (lﬁt u’;//, ¢ Sl J@’r :29/ Jis
(a) 1 (b) 2 (c) 4 (d)6
Question No.30: Every web page has the address, that is:
e g% u‘bf@,%é’ — :30/ J!r
(a) identical sz _'g (b) unique ,/':3’ (c) duplicate _b,:a;‘,j (d) universal J/ng

Question No.31: Identify the following browser's icon.

g st SETE s it 314 Jr

(a) Google Chrome (b) Opera
(c) Mozilla Firefox (d) Internet Explorer
Question No.32: Choose the most popular search engine from the following.

S G Y e S 32 A i
(a) www.bing.com (b) www.google.com

(c) www.funbrain.com (d) www.wiki.com



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
ENGLISH PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :

1. Read carefully and attempt all questions.

2. A question can consist of one or more parts.

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

| Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes |
Question No.1: Guess the profession in the picture and write ten sentences about it. Use correct spelling, grammar and punctuation.
Marks (10)

Question No.2: Look at the given picture and write a short story with a moral by using the hints given below. Use correct punctuation,
spelling and grammar. Marks (10) ' R

o apieial
¥
[ (] | TR animal and people feared him ?




Question No.3: You want to access to your school library. Fill the following library registration form to get library card.Use correct
punctuation, spelling and grammar. Marks (10)

Library Registration Form

Name:

Father’s Name:

Date of Birth:

Class

Class Incharge

Gender:

Religion:

Permanent Address:

Contact No:

Father/Guardian occupation

Question No.4: Read the passage carefully. It has certain grammatical and vocabulary errors. Rewrite it after possible correction. Marks
(10)

the king of iran had heard that birbal was one of the wisest men in the east? he wanted to meet Birbal, so he sent him a invitation to visit my
country. in due course, Birbal arrive in Iran.

Question No.5: Read the following paragraph carefully and answer the questions. Marks (12)

Coconut is the most important nut in the world. Not only it is one of the biggest of all nuts but almost all
parts of the tree are useful for man. The flesh of the green coconut is used as a vegetable. The milk inside
the young nut is used as a fresh drink. Rope matting and brooms are made from the outside layer which
protects the nuts. Coconut tree is the most useful tree in our life. Khopra is the dried pulp of the seed which
is the source of coconut oil. The leaves provide materials for baskets and roofing the husk and shell can be
used for fuel and are a good source of charcoal. Its wood is used for making frames, windows, doors, pillars,
etc.

(a) What provides protection to coconut? Marks (02)

(b) Enlist the things which are made by coconut tree? Marks (03)

(c) Can you write the name of some other nuts? Marks (02)

(d) Which is the most valuable and biggest nut? Marks (02)

(e) What is the main theme of the paragraph? Marks (03)




SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
ENGLISH PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :

1) Use mask & keep at least 3 ft. distance from each other.

2) Read carefully and attempt all questions.

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: Heis

a) goes

(©) going

to school.

b) went

d) go

4) If more than one options are encircled in a question, no mark will be given.

Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

Question No.1:

(a) Alert

(c) Patriotism
Question No.2:
(a) contrary to
(c) prior to
Question No.3:

(a) He likes fruits.

b) They bought apples.

Identify four syllable word from the following.

"Patriotism keeps us alert from the foreign invasion."
(b) Foreign

(d) Invasion

"Each vaccine is tested its administration on humans."

(b) due to
(d) according to

Which is the sentence of Passive Voice?

(
(c) I have taken tea by the window.
(d)

d) A letter is written by me.

Question No.4:

Choose an appropriate expression to show an apology.

(a) Don’t be worried about the mistake.

b) I am so sorry for the mistake.

(
(c) How kind of you to me!
(d)

d) Nice to meet you after so long.

Question No.5:

(a) more perfect

(c) perfect

Question No.6:
(a) Smooth

(c) Splash
Question No.7:
(a) Fast

(c) Slow

Complete the sentence with an absolute adjective.

"This stoneisa____ match for this ring."

(b) much perfect
(d) most perfect

Which of the following words is an example of triphthong?

(b) Royal
(d) Unique

Which of the following has an initial consonant cluster?

(b) Lazy
(d) Active



Question No.8:
(a) C-ough
(c) Tsh-irt

Question No.9:

(a) Tower
(c)ls

Question No.10:

C

(
(
(
(d

)
)

Question No.11:

(a) Milk, Noise, Honey

(c) Bed, Bell, Bill

Question No.12:

Choose the option with correct usage of the hyphen (-).

(b) X-ray

(d) Uturn-
Identify the adjective from the given sentence.
"Minar-e-Pakistan is a tall tower."

(b) Tall

(d) Minar-e-Pakistan

Change the narration of the given sentence.
Hamza will say," | love my homeland."

a) Hamza will say he loves his homeland.
b) Hamza will say that | love my homeland.
Hamza will say that he loves his homeland.

Hamza will say | love my homeland.

Pick the group of uncountable nouns.
(b) Table, Chair, Suitcase
(d) Chapter, Chest, Child

Select the sentence that uses "have'" as the main verb.

(a) Those cows have eaten all the grass.

b) We have gathered all the equipment we need.

(
(c) We have a large extended family.
(d)

d) They have decided to go for shopping.

Question No.13:

a
b
C
d

(a) plesant
(b) pleasant
(c) plazant
(d) plaisent

Question No.14:

(a
(b
(c) yourself
(d) himself

) myself
)

herself

Question No.15:
(a) a

(c) the

Question No.16:
(a) is not

(c) are not
Question No.17:
(a) Carry, Pick

(c) Climb, Fight

Question No.18:

(a) already
(c) efficiently

Question No.19:

Complete the sentence given below with correct spelling.

"He enjoyed the_______ weather."
"He ____ is trying to tie his shoelaces."
"Thisis ________ moment my parents were waiting for."
(b) an
(d) any
"You____ pluck the flowers from the garden."
(b) has not

(d) should not
Which of the following pair has silent letters?

(b) Feed, Drink

(d) Teach, Learn

Choose the adverb of frequency from the following.
"He goes to school in time."

(b) happily
(d) always

Identify the sentence from the following with the correct use of capitalization.

(a) ahmad went to Lahore to visit badshahi masjid and minar-e-Pakistan.

b) Ahmad went to Lahore to visit Badshahi masjid and minar-e-Pakistan.

(
(c) ahmad went to Lahore to visit badshahi masjid and Minar-e-Pakistan.
(d)

d) Ahmad went to Lahore to visit Badshahi Masjid and Minar-e-Pakistan.



Question No.20: Identify the correct question form of the given sentence.
"Give me a glass of water."

(a) Will you give me a glass of water?

(b) You will not give me a glass of
water? l

fE
(c) Please give me a glass of water. k= kTTx\

(d) You will give me a glass of water?

Question No.21: Identify the sentence of ""Past Continuous Tense".
(a) The boys played football in the playground.

b) The boys were playing football in the playground.

The boys are playing football in the playground.

(
(c
(d

)
) The boys play football in the playground.

Question No.22: Identify the sentence with incorrect sentence structure.
(a) The crowd will president point out.

(b) A flock of birds flew over our heads.

(c) We smiled at each other.

(d) We were helping the poor and the needy.

Question No.23: Choose the sentence with the correct use of comma from the following.
(a) Students, always keep pencils books, clipboards and notebooks in bags.

(b) Students always keep pencils, books, clipboards and notebooks in bags.

(c) Students always, keep pencils, books, clipboards, and notebooks in bags.

(

)
d) Students always keep pencils books clipboards, and notebooks in bags.

Question No.24: "If he works hard, he willnot______ the match.”

(a) lose (b) loses

(c) lost (d) losing
Question No.25: "Charles Babbage the first computer in 1834."
(a) invent (b) inventing

(c) invented (d) invents
Question No.26: Identify the Passive Voice from the given sentences.

(a) We celebrated World Health Day.
(b) We will enjoy World Health Day.
(c) World Health Day is celebrated

by us.

(d) We are celebrating World Health

Day.

Question No.27: Choose the right compound word which matches the picture.
(a) Fishstar :

(b) Fish-Star

. ___I gl ‘: i v i.:
(c) Star-fish b P
(d) Starfish




Paragraph Instruction

Read the following poem carefully and answer the questions given below.
O Gracious and Merciful Lord
We always seek your pardon
All the sins as we have done
Stars shine at the night

Looks delight in the height
The moon vivid up so high
Like a diamond in the sky
Rain showers upon the trees
Floods the streets in summer
Spring brings the colors to life
Winter comes and brings cold
Leave falls in the autumn

All the blessings are by You

Question No. 28 : Choose the appropriate synonym of “Merciful”’.

(a) Cruel (b) Merciless
(c) Fatal (d) Forgiving

Question No.29 : Which one of the following correctly rhymes with “Night”?

(a) Pardon (b) Height
(c) Shower (d) Autumn

Question No.30 : What is the purpose of the poet to mention all changing weather conditions?
(a) To inform us about extreme weather.

(b) To warn the reader about dangers.

(c) To let the reader know about floods.
(d) To show blessings of Lord.

Question No.31 : What figure of speech is used in the given sentence?
“Like a diamond in the sky”’.

(a) Rhyme Scheme (b) Simile

(c) Metaphor (d) Alliteration

Question No.32 : Identify the theme of the poem.

(a) Seeking Knowledge (b) Sorrows of Life

(c) Wonders of Life (d) Blessings of Nature







SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
ISLAMIAT PART - B (Subjective Type)

[Part A: 30 Marks Part B: 30 Marks Part C: 40 Marks Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :

1.Use separate answer sheet for writing answers and give your personal information on it as well
et U e g St g S e Ki6dz = i LA yn
2.Read carefully and attempt all questions
_q/'/f = Ul (l/" pll u:‘.‘”?“ézf
3. A question can consist of one or more parts.
_?ijnffguﬁ?ug}cugk,gdwbg
4. Use black/blue ink for writing answers. Use of lead pencil is not allowed.

e S et S LSS Iekden Sl £ iz

I Total Marks: 30 I Part-B (Constructed Response Questions) I Total Time: 45 Minutes I

Question No: 1
1/:}‘.)!;/
a ) Write the literal and terminological meaning of Azan.(4)
(4)-ui’”0 (r?‘ Slleers §4 6 i3l (@
b ) Write a note on the importance of funeral Salah. (4 Marks)
A9 i e Stz 0 (0
¢ ) Write the method of offering funeral Salah. (2 Marks)

A2 5 bt

Question No: 2
2/:} J!r
a ) Explain the meaning of selflessness (Eesar). (2)
Q) S e 6 @
b ) Explain the selflessness (Easar) of the Sahaba kiram pgic (JI=i AUl (n5) on the occasion of the Battle of Tabuk. (4)
@) - e L K(’V Jo i &) Cv & S osf (b

¢ ) As Muslims and Pakistanis, how can we show selflessness for our country? (4)

(4)?@?&/’/0/;@‘ K/C«,iéLJ%IC}‘/("LQ?JL%&D@”IUW (c

Question No: 3
3/:} Jlr

a ) By what title was Hazrat Khadijah lgic (JI2i AUl (7o) known in her tribe? (2)



@ i e B S G I P g e S (0
b ) Why Hazrat Khadijahlgic (Jlsi AUl (no)was impressed by the Rasoolullah 3) ? alwg ~ayluoly Al (deg adle (i AUl WLo)
(I 5o U e s e TS L8087 e 2 0 (5 P g =2 (B
c ) Mother of believers Hazrat Khadija's lgic (Jli AUl (o) life is a source of guidance for Islamic women. Explain. (5)

(5)_Q/;>9L’u_‘ac<!,«,,"%/ZJ_L(WIJI?JIJJWJ@&I(j‘z/é,«éc«/vdgfo)iﬂ (c



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
ISLAMIAT PART - A (Objective Type)

[Part A: 30 Marks Part B: 30 Marks Part C: 40 Marks Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_uﬁyw:ﬁsfﬂ (wa/,lu%JL-!

2) Read carefully and attempt all questions.

_Q/J’amy(l}m uﬁwz:_/);-f

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

_‘L.lff.t.u/lutdc”fdiéfld?u:/év//b/??!ﬁgLd‘yd@mu’/’?}/ﬁ_r
e Pt & s, o Je

Example: How many Salah are obligatory for Muslims in a day?
Four th (b) Three uf' (2)
Six 7 (D Five Lo

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks: 30 I Part-A (Multiple Choice Questions) I Total Time: 45 Minutes I

Instructions: Twenty (20) Multiple Choice Questions (MCQs) are given in this part. Each question carries 1.5 marks.

cu A1S L o Lo e JEW E20 Ut o Ul

Question No.1: The Oneness of Allah Almighty is mentioned in the:
Ce SiK ection S 36 001 A Jir
(a) Belief in Resalat AT Y4 (b) Belief in Tauheed >y o 45
(c) Belief in Aakhirat U:@]TU/.‘:‘B"O (d) Belief in Khatm-E-Nabuwat S s EJ Y
Question No.2: Rasolullah alwg ~mlzolg AT wleg ale AUl wLio taught the words of Azan to:

2 WF B L sl o (J“; @0 JT &, ) & (ﬁd’ 2 A i
(a) Hazrat Umer Farooq ~ic oJlsi ol (s, S 2o Q6 P O f e e
(b) Hazrat Zaid bin Haras ~ic Jlei AUl () PN B IO DS Sy
(c) Hazrat Abdullah bin Zaid ~ic (Jlei AUl iy S 2o Q5 kA e
(d) Hazrat Bilal nic (Jlei AUl (o) S oo Q0 bl e 2

Question No.3: The words used in congregational prayers are:
p Z U Bl b L L estal 3 L Ui
(a) kalimaat g[y f (b) azan O3] (c) tasbih Z.';) (d) dua ’3)



Question No.4: Complete the translation of Hadith, Salah is -------- for the believer:

‘LJJ‘}”/VU.:/J/(/]{G{,M 24/&!/

(a) glory u[} (b) life u[, (c) ascension CV/‘ (d) recognition u.tz;(
Question No.5: The greatness and purity of Allah Almighty is acknowledged by saying subas)l (g oluw :

e bl U1 Kf):@m&&dwm/fﬁdl Srulr 5 A Ui
(a) in Ruku ufj 6// (b) in prostration u;‘j e (c) in stay uﬁ rg (d) in gada ufj =
Question No.6: The lesson we seek on attending the funeral Namaz is:

e O e oS 2 Uitz U6 A Ui

(a) the ritual is performed < St 1l (J
(b) the relationship grows < w3 JJ")
(c) belief in the Hereafter becomes firm ‘L (* o7 @ u%; / Q]T
(d) knowledge increases ‘Lt’n’ sl u;f R‘
Question No.7: Hazrat Ibrahim and Hazrat Ismaeel o\l loulc prayed" O Allah make this city(i.e Makkah)"

et LG 2 Ui e S L p e S e @ il g e 2 7 2 Ui
(a) city of peace and prosperity /‘.}’ Kg[/? P Cf" (b) city of valleys /‘.}’v Kuz,;,
(c) city of buildings /‘.}’d Ku}J[j (d) city of gardens /‘.}’v Kuft
Question No.8: The ideal means of seeking forgiveness for previous sins Regarding Allah's rights and avoiding future sins is:

e 25JG S e st o Tl L5 o 3l s L 8 & Jir

(a) Hajj é (b) Soam 51y (c) Zakat j,‘fj (d) Namaz pivi
Question No.9: When Rasoolullah auwg ~yluolg Nl deg atle AUl Lo sent letters to preach Islam, the official religion of Egypt was
the:

:Q%jd/(/(/&)Jl;ékﬁéL(U/!af)Lﬁ/),Vl)JT&‘)Jﬁl&#ﬁ/d?e :9/1‘;Jlr‘

(a) Judaism <M (b) Christianity _n,;:’w (c) Majusiyat %}4 (d) Atheism Y
Question No.10: On the occasion of the Ghazwa-e-Khyber, the Jews intended to eliminate the----------- from the world forever with

help of polytheistic tribes:
_.Zu:)/’/fjég)éL%[ﬂjVIJ/GJ}J/@MM Kug;xﬁ4d/£;5uj :IO/J!}/
(a) Polytheists /u—://"f (b) pyrolary ,(G//“ J."T (c) Christianity /&jw (d) Islam /ﬂjﬂ

Question No.11: There is a lesson for us in the command of Allah Almighty" - ygbioll iz g Gulgitl iy Ul

e O PRS- U:/L/)l S A ol LA A i
(a) of Generosity K o s[5 (b) of Cleaning K&Lw (c) of Piety gd’,’éf (d) of Trust K (S50 e
Question No.12: The people of Makkah have given to the Rasoolullah plwg ~lxolg Nl ideg asle AUl Lo the title of " §3Lall" due to
His:

JT(}:,}&I‘WJ’ﬂb’j‘&g:JL@Q:J"J)Lo)l"/(y:,Lﬁ"bJTJ‘:zﬁﬁl&ﬁ:/Q’.@J}JIgﬁt 212/}J1r‘

:K(p; -5

(a) behaving ethically tT L}f' o JU?' (b) adopting simplicity [;//L’,Ip'] L{)V
(c) speaking the truth y é 4 (d) doing justice L/JW‘ K
Question No.13: According to the Hadith of the Rasoolullah pluwg ~mlxolg AT (eg ale AUl Liotruth saves while lie.............
- Lad & | ‘L - ®
_______________ &%/}lc‘;l’a)c«l{ éuﬂﬂrﬁ)tfﬂﬁﬁ/},@"bﬂ L}G:,:l&wlpl'iﬁ/d 113/J!/
both o S e b) induldges in probl W 1
(a) bothers ‘;_L/u[’:{/“ (b) induldges in problems C‘LUDU:JL»‘

(c) makes angry o by ¥ (d) creats jealousy < t’/UV:,M
¢ ¢ -



Question No.14 : Itis also a kind of betrayal (Khianat):

e (O S e 14 A Ui

(a) telling a lie Uy s (b) stealing [;/6/,.7‘
(c) neglegence in duties Oy _»/laf ufj Uw’/ (d) being jealous L’//‘,}
Question No.15: Every good act is called:

:‘at“llv/‘ff/: ¢ 115 £ Jiv

(a) Favor Lo (b) Truthfulness oo |4 (c) Patience A (d) Integrity AN
Question No.16: If you spend all your pocket money your friend needs it, this is an expression of:
:‘L/b‘»gl :«;J") el -2 - G ?T/?J_Z :«A/"/;/» Z %T :16/} Jﬂf
(a) truthfulness K | 4 (b) sacrifice K0 (c) trust K sl (d) purity Kb
Question No.17 : The tenth year of the Nabuwwat is called the year of general mourning due to :
e 22 Jng g;/l/“ u}l (b/db« ¥ P :17/ Jlr’
(a) martyrdom of Hazrat Ali ~ic (Jl=i Ul (o) g7 db’} K o J‘ = 2 &)sz:"
(b) incident of Karbala U:/,.J’)
(c) martyrdom of Hazrat Umar ~ic Jl=i Ul o) o5 db‘] /;'w UJJ/ g/ ;.AL("‘
(d) death of Hazrat Khadija L ic (Jl2i ~ll (o) e ld JL?”; db’] o u:”/ EP Iy
Question No.18 : We learn a lesson from the practical life of Hazrat Ali nic (JIsi ~Ul (2):
:4‘_&@;@”‘45}:)&}64&&@&1 u"/&c«/} ZIS/JD’
(a) malice Ku‘)} (b) fighting Ké;ﬂ (c) resentment {J (d) braveness {&?’3
Question No.19: The specific reason for the fame of the family of Hazrat Data Ganj Bakhsh Ali Hajwary was:/
e e S et & bdizr $08 E F Lt 19 4 Jir
(a) knowledge and piety L';,’&T sl H" (b) equality and patience Yl N
(c) bravery and courage S nl O’J,[% (d) wealth and property ,U“jt? 8l Ay
Question No.20: known as the conqueror of Andalusia:

L e L(uf?)gfj,cl f:G 220 & Jir

(a) Muhammad Bin Qasim ~uc Ul 20>, L Sl w2y KG’ e £
(b) Salah Uddin Ayoobinile AUl 2a>, o it =2y Al A ik
(c) Musa Bin Naseer ~de AUl xo>) " o ;;J/:‘J e L’f}"

(d) Tariq Bin Zayyad ~dc ~Ul xo>) 7:1; o 2200 ¢ JJQ






SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
MATHEMATICS PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :
1. Read carefully and attempt all questions.
_Q’/Jpaﬂi/(um u‘.‘f’zc;u;_'
2. A question can consist of one or more parts.
_‘Lcﬁﬂ(}:jﬂ{:u%?u}k)afug&ugg)l)’.g_f

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

e U b JJWZJ"?J:_Q/JW 00 & /o8 d6dize ML L iz _r

I Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1
1/:‘; Jlr

a ) Write the following sets in tabular form. (5 marks)
X=The set of letters of the word Mathematics
Y=Set of natural numbers less than 13.

(#5) -ut‘”gut &L Guad use Sipn @
X = &» 6557 £ Mathematics 59
Y=<x 6 51l (3/,5 [4;13
b)Provethat13 + (15 + 17) = (13 + 15) + 17.(5 marks)
(#5)13+ (15 + 17) = (13 + 15) + 17- S =t (0
Question No: 2

2/:} J!r
a) Find the HCF of 18, 24, 72 by prime factorization method. (5 marks)
(F5) - pd 67 22 20 1k 618, 24, 72 3
b ) Simplify: [(+21) — (—7)] — (4+27 ). (5 Marks)
(9 [(+21) = (-7)] - (+20)-y /S~

Question No: 3
3/:} J!r
a ) Asad ate %, Ali ate % and Umer ate % of a pizza. How much pizza they ate altogather and how much they left? (5 marks)
98 QU W e I LUt W o Ld F ol Fdbe jnfid un (@

b ) If a washerman irons 4 shirts in 12 minutes. Then how many shirts will he iron in one hour? (5 marks)

ANG S AT S it S ot e 12824 S (b



Question No: 4
4/ J!r

a ) The sum of two numbers having a difference of 10 is 100.Find the numbers?(5 marks)
(F 5)Suf o el e 100 5% 631wt 3 L1y &, 34 K10 (@
b ) Constructa A ABC ifm AB = 4 cm, mAC = 3cmand m/BAC = 70, (7 Marks)
(/ 7) -m/BAC = 70 simAC = 3 cman AB = 4 cm /| Ufl‘/.A ABC (b
Question No: 5

S/J!r

a ) The perimeter of a square-shaped room is 48 meters. Find its area. (5 marks)
(5)-g ) o 56U e a8 bl 6 S L (@

b ) The given pie graph represents 1080 people of a town travelling by different modes of transport. Find number of people who
travel by motorcycle and car. (5 marks)

5)-@):/("#")11.’76/)1/'1 LIy L///’/Uﬁzgm J?/Lf/br‘ - t‘//zlﬁ)’/;lﬂ 1080 L1 L//LCJ:D)J;LJ.{' b:!fégtfg; (b
4




SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
MATHEMATICS PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
= " Z - 7 o .
e VWS BT 2 S S 12 E L e $E 0 2y

Example: 64+8=
a) 4 b) 6 ©)s8 d) 12

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L slizn e Lty o

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
AL o Lo e SE W F GDUT Ut s U1 el

Question No.1: To represent the set of Whole numbers, we use the capital letter:

_wz_/ﬂw;}iuulqimw‘(n/wy

(a) P (b) E
(c)O (d)w
Question No.2: If M ={1,2,3,4} and N = {4,3,2,1} , then:
Jx N=1{4,3,2,1)} 5 M={1,2,3,4.01 2 # Ji»
@M = N b)M #£N
)M € N dN e M
Question No.3: Solve 5283 + 4914
5283+4914 g/ F 3 £ Jis
(a) 10197 (b) 10917
(c) 11097 (d) 11907
Question No.4 : Solve 84 x 35
84 x 35/ 4 £ Jiv
(a) 119 (b) 2100

(c) 2940 (d) 4040



Question No.5:

(a) 1,2,3,7,8,14,28
(c) 1,2,4,7,14,28

Question No.6:

(@)l x2x3x4
(€)1 x2x2x6

Question No.7:

(a) B°
(c) 57

Question No.8:

(@)1
(c) 17

Question No.9:

(a) Prime Numbers
(c) Even Numbers

Question No.10:

(a) 2,4,8,9,10,12,16
(c) 4,6,8,10,11,14

Question No.11:

The factors of 28 are:

e £28 15 A Ui

(b) 1,2,5,7,8,28
(d) 1,2,4,7,20,28

The prime factors of 24 are:
QA ez L 24 6 £ iy
(b)2 x2x2x3
(d1x3x8

The Index notationof 5 X 5 X b X 5 X 5 X 5 X His:

e P e {5 x5x5x5x5x5x5 74 v

(b) 5°
(d) 58
The HCF of 17 and 51 is:
e kK51 17 8 7 Ui
(b)3
(d) 34

The numbers having more than two factors are called:

- LM U R Dl 9 22 lwl & :9/1‘; Jir‘

I 4l )/'” (b) Composite Numbers 3 4 : .l/
s 6l = (d) 0dd Numbers Ny Jw

The composite numbers less than 15 are:

. .
sl Sl 15110 £ Ui

(b) 4,6,8,9,10,12,14,15

(d) 4,6,8,9,10,12,14

On the number line the next integer greater than 2 is:

-g.)ﬁééigiikc24uiﬂ/ 11 4 Jiv

s
6 -5 -4 -3 -2 - 0 1 2 3 4 5 6

(a)-3 (b)-1
(c)1 (d)3
Question No.12: Solve 128 = (—8)

128 + (—8) g/ S 12 A Ui
(a) —16 (b) —14
(c)+14 (d) +16
Question No.13: The numerical value of -64 is:

_4"_;%36),4& d/—64 13 # Ui

(a) —65 (b) —64
(c) 64 (d) 65

Question No.14:

(8)4, 2a 07 _17 -3
(C) _17 _37 Oa 27 4

Question No.15:

(a) —30
(c)6

The ascending orderof 0, — 3, 2, 4, — 1lis:

ce IS S0, —3,2,4, —1:14 4 i
)0, —1,2, —3,4
(d) _3a - 1a 07 27 1
(—18) + (—12) =

(—18) + (—12) = :15 # Jis



Question No.16: 2.5+ (3.6 +2.4) =
2.5+ (3.6 +2.4) = :16 & Jir

(a) 2.5 (b) 4.0
(c)6.0 (d)7.5
Question No.17: In a class of 35 girls and 25 boys,the ratio of girsl to boys is:
e e e S S Ut 25 U3 sl L 117 A Uiy
(a) 7:1 (b) 1:7
(c) 7:5 (d) 5:7
Question No.18: The value of x in the given proportion3 : z :: 2 : 6 is:
e ed Ux B n2:6 8L 2 18 A Uiy
(@x =1 (b)x =4
)z =9 (dax=12
Question No.19: % in percentage is:
;3. /
_%u.f,w;’ < .19;’/Jl/
(a) 20% (b) 30%
(c) 40% (d) 60%
Question No.20: Wagqar bought a bag for Rs 400 and sold it for Rs 600. His profit percentage is:

e 4B C KU B U 21 600 et sl 147 U 20400 Lo L1 & 55 220 A Ui

(a) 40% (b) 50%
(c) 60% (d) 70%
Question No.21: Solve 8y — (3z + 6y)
8y — (3z + 6y) u:/f :Zl/dﬂr
(a) 14y — 3z (b) —14y + 3z
(c) —3x + 14y (d) =3z + 2y
Question No.22: Solve [5z — {3z + (22 — z)}]
[bx — {3z + (22 — z)}] u:/gf 222/ Jiv
(a) x (b) —x
(c) 9x (d) -9x
Question No.23: If a=2 and b=3 then the value of 4ab is:
e =d S 4ab Ib=3 s a=2S1 23 £ Jir
(a) 24 (b) 25
(c) 26 (d) 27
Question No.24 : Ifa = 3,and 3a — b = 7, then value of b is:
e = $bTw3a—b="Tua=3S 24 £ Jir
(a) —4 (b) —2
(c) 2 (d) 4
Question No.25: (42% — 2z + 5) + (32 — bz — 3) =

(42? — 22+ 5) + (322 — bz — 3) = 25 & Jir

(@) 7z2 — Tz + 2 (b) T2 + Tx + 2
(c) Ta? — Tx — 2 (d) =72 — 7z — 2
Question No.26: "The difference of a number and 17 is 25". Correct equation of the given statement is:

e el e Jug Z o> _“‘L 250} K17 346 .,gl” 26 A Ji/
(@)x +17 =25 (b)x — 17 = 25
(c)x + 25 =17 (dax—25=17x
Question No.27: An algebraic equation is:

S u’;{'l L1227 A iy

(@)bx —y —2 (b)dox —y <2

(c)ox —y > 2 d)dx —y =2



Question No.28: The perimeter of the given rectangle is:

— bl Wt éfd; 28 & Jis

4m 4m
im im
(a) Tm T (b) 12mn 124
(c) 14m 144 (d)21m 21 A~
Question No.29: In the figure, the length of one side of a square field is given. Its area is:

e K e (OIS N LS Lt F 29 AUy

Sm
(a) 5 m? 54 8, (b) 10 m? 104 &,
(c) 20 m? 20 % @/ (d) 25 m? 25 4 &/
Question No.30: Area of the given Parallelogram is:

e N i § 6 30 A Jir

17em

(@) 104¢m? 104 & &, (b) 204em? 2044 ¢y
(c) 304cm? 304 % & ¢ Y (d) 404cm? 4042 5 ¢ /

Question No.31: The number of vertices in a cuboid is:

- (sl Surl SV J.{l 31 2 iy
(a) 6 (b) 8
(c) 10 (d) 12
Question No.32: The following pie graph is showing the daily (24 hours) routine of Ali. According to the pie graph how much time did
he sleep?

?M}f/r‘ = 5 J 3 £ Jl//ég b /'//:U; S L (&34) s L J‘ ..Jl/(jg &fk) é :32/:‘; Jis

(a) 6 hours 6&/ (b) 8 hours gg

(c) 10 hours 1 OZ{ (d) 12 hours 1 22//






SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
SCIENCE PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil : District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : Ol gwogee W S Wb

1. Use separate answer sheet for writing answers and give your personal information on it as well.

-udd CJl.og.lSLo U0 LJI.! c_u| us.g_g_)._g__9| éuu|_)9| UJ)S LJLQSLI.qu s u\._g_ls uq|_9.?dy o..\.z_A_JL CL] écj_.eﬁ.l CJL;|9._> A

2. Read carefully and attempt all questions.

- 28 J> OVl plad jgl paosy aw joe T

3. A question can consist of one or more parts.

-t B 99 Jadinoyy ygra> 03b ) aw Sul b Syl Jlgaw SylLP

4. Use black/blue ink for writing answers. Use of lead pencil is not allowed.

et ot el S Lol S iy x2S+ )3 Lol 18 (iliigy vl /IS ) S gS) wls £

| Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes |

Question No: 1
l/r} Jlr

a ) Define a Cell. (2 Marks)
NS RAC
b ) Write any three similarities between animal and plant cells. (3 Marks)
@) e F 5 3 E S L e s PRYAC

¢ ) Write the names of labeled parts of the given below diagram. (5 Marks)

(5)_ui‘”i(t Ui KL (ufyf Cfd; (c

|
c

@ 0:1 ; @@)@@ i

qw [ i

\_
(] 1

Question No: 2

Z/le



a ) Define environment. (2 Marks)
Dy S/ U a

b ) Identify and circle the carnivores from the following. (4 Marks)
lion, crow, cat, bear, frog, humans, snake

(4)-0,'.% i) L Il u:/'/wlw“ d//'/» &/Kc e Jn;’ s (b
-:f’v‘uthJ:r:Mc&"/‘j
¢ ) Identify any two biotic and two abiotic components from the following diagram. (4 Marks)

(4)-u“/ww d/l'Zl .1?;;% &l 3y sl 7] .,“G;;’L I3) :,uf.'/“rg J:;' (O] (c

Question No: 3
34 Ui

a ) Define molecule. (2 Marks)
Q)-y S/ JL @

b ) Write down the symbols of the following elements. (5 Marks)
Aluminum, Gold, Silver, Sodium, Mercury

(5)-%@?’ i ujfgi £ &, (b
S s Yalpebae (:5)&!
¢ ) Write the names of any five metals. (5 Marks)

(5)-7 L Uils L di (e

Question No: 4
4 / Jisr
a ) Define potential energy.( 2 Marks)
OWNIEAEY RN SN I
b ) Write down the name of any three kinds of artificial satellites. (3 Marks)
@) L e §o £ 2 F 5 (S
¢ ) Where do comets come from? Write the name of its three parts.(2+3 Marks)

(5)-ﬂ(t Lo L Luspiiaeuf sl

Question No: 5
5 / le
a ) Define asteroid belt. (2 Marks)
-y S/ § ek s (@
b ) How asteroids are formed? (3 Marks)
G 2 L g R (b
c ) Describe artificial satellites with examples. (5 Marks)

(5) -q/ug. &k Ju)tﬁ’* ;()“/’ﬂ/:«]/? u’b"/u«’i:’ Jf.’.‘z:bfl’ (c



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
SCIENCE PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy o7 & Y

1) Use mask & keep at least 3 ft. distance from each other.

_uﬁyw:ﬁsfﬂ (wa/,lu%JL-!

2) Read carefully and attempt all questions.

_Q/J’amy(l}m uﬁwz:_/);-f

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
e WO e TG L S Bois 28 L e JEW Z
Example: Covid-19 is caused by:
fe o d/19—3’;/2df°f
a) bacteria E/:’:!; b) fungi &L;’
(©) virus J s d) algae U%’

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

AL v o L s e B0 GG U g U el

Question No.1: Which of the following parts of a plant cell, traps energy from the Sun for making food?

?‘LV/JW’“ALLQJJ,&/@}/JDLTLZ’/J}’C«”L«“U/KJ:Z:L){LU:J“5,?JW :l/dlr‘
(a) Mitochondria E/,‘L‘/}’L (b) Nucleus ufiig,: (c) Chloroplast yj_&u,g (d) Vacuole d,;/:/,
Question No.2: Identity tissue from the following.

e A s 2 A U
(a) Heart Js (b) Blood s (c) Liver /5 (d) Stomach A
Question No.3: Which of the following organelle is NOT found in the animal cell?
b Ll F U Lo F Lol e Uit 34 Uy
(a) Cell wall Jis (b) Nucleus J;:g ¥ (c) Vacuoles J W5 (d) Centrioles Ay

.

Question No.4: The cavity of the nose is known as:

et SEL ST Ay

(a) nasal cavity Y K__fL (b) hammer /:Z (c) nostrils -~z (d) anvil J,ﬂ



Question No.5:

(a) iris

Question No.6:

(a) Water
(c) Chlorophyll

Question No.7:

(a) 15 — 25°C
(c) 35 — 45°C

Question No.8:

(a) Oxygen will increase in quantity
(b) Carbon dioxide will decrease in quantity
(c) Plants will get more food

(d) Plants will die gradually

Question No.9:

(a) Bacteria

Question No.10:

(a) Water

Question No.11:

(a) purification

Question No.12:

(a) Carbon dioxide

(c) Tincture of iodine

Question No.13:

(a) Pond

Question No.14:

(a) Water
(b) Nitrogen
(c) Oxygen

(d) Hydrogen

The coloured part of the eye beneath the corneais called:

_‘LL“M WJ/KJT%LQJKS/J!/

-

(d) lense .

(c) retina L;,.f«“/

*

0

JA (b) pupil S

Which of the following is a product of photosynthesis?

!‘Lw:@Jfﬁ;}LufJJ@u !6/7‘;‘.)'/

*

d.[,. (b) Carbon dioxide jjm g;j i
J.;”}K (d) Oxygen S T

Plants normally grow well at temperature:

-t LE}/ Z/j U{‘ 47 on 4 ¥ (’lp <y 27/} Jir

iS85 s 15-25 (b) 25 — 35°C iS5 8 25-35
1S 8 35-45 (d) 20 — 30°C 1S 6 50-30

What will be the effect on earth if the process of photosynthesis is stopped? .
Wy T IS K S8 A
£l 3ol U2 I J‘f{!’
Sebnd i § o §s ok
JL SOr; oalJ /U”{
C S pesy =l =40
Which one of the following microorganisms provides important compounds to the plants?
fe t’/ﬂl) c«(,-(/ (71 /u»{f JNAEL u‘:')u"l/ u:(z”_ U J;} e 19/} Jiy
L 2E (b) Fungi o u%’ (d) Mushroom 2 -

o /o0

(c) Algae
Identify an example of the biotic component from the following.

g s e § oz (BFD3Ee o U S ew 110 £ Jir
AL (b) Sand s i

| /;g (d) Light 52
The hair and mucus in our nose helpsin___ of air.

Y-SR RV u(lngf/}:f/;ldbﬁrufu(tdﬂn le/dir‘
.:‘.. ““J}“«;, (b) filteration ﬁ%’ Pt u"/,,“.."/j

Which compound is used to manufacture caustic soda?
e by S L Lty Bl 12 A s

(b) Plaster of paris

(c) Bacteria

(c) sublimation N (d) distilation

Uz STl
,’gl/}g ﬁf}*’

(d) Sodium chloride

Which of the following is the world's largest mixture?

e b uf £ e e Kl U S5l 113 A Jir

(d) River [

?Ub (c) Sea J IS

Identify the structure of molecule in the given below image.

gl S e UL st P E 4 A Ui

(b) Canal /

3y
cﬁ 3 f‘ll.'

o
=7 g »

/e

OO)Ji“-//g



Question No.15:

(a) e i =

.;E.
-

v
I

|

w P
o
o

Question No.16:

(a) Oxygen
(c) Ammonia

Question No.17:

(a) Solute + Solution—Solvent
(b) Solvent + Solution—Solute
(c) Solvent + Solute —Solution

(d) Solvent + Solvent —Solution

Question No.18:

Question No.19:

(a) Wind

Question No.20:

(@) O
(b) B
(c) A
(d)D

Question No.21:

(a) Decreases potential enrgy as height decreases
(b) Increases sound energy as height decreases
(c) Decreases kinetic energy as height decreases

(d) Increases heat energy as height decreases

Identify the object which is NOT an energy converter.

_&/uﬁ‘”’dﬁuﬁd/uadﬁb{l:(&ti;iq}/wwgf&gﬂ :15/:)J!r

I T, N

g pie
-'t"—"'_“_"!l *'*)

(b) N (c) (d) |
e = ==l
A —

|

Which one of the following dissolved gases is used by aquatic plants to make food?

cr S e L L Sd oy QT/ufoﬁ?J’u‘ufau:me 116 & Uiy
gﬁt’} cﬁ)/"/lt

Lo VT 815 6

(b) Nitrogen
(d) Carbon dioxide
Identify the correct composition.

_u:/d‘llfﬁ d/v;(}' 3] :17/:‘;J|r
Ly + el
o S+ ey
Th e+ ey

S Ay + sy

Which of the following is made up of alloy?

?‘LJ‘LG‘«/{ZZU’U/LJ&J’ :18/J!/

Which one of the following is a source of non-renewable energy?
Coo 23 ak SEEEN L o e Ul 219 £ Jir
G Jijz

(b) Water d(, (c) Light (d) Petrol

At which point of the given pendulum potential energy is zero?

¢ J;’Z Yy, J:*fbg/“ &5!{ J/L 85% Z P :20/ Jl/

What happened when a brick fell down from some height?

?c‘_t’ng;"g_&jgdﬂupﬂg A :21/1‘;Jlr‘
o 2 2 B G Py
sl L2 o B Joale
< s {/?'51 Ll e i (‘j./'i (e

PP == P SN

N



Question No.22: Which simple machine is used to raise the flag to the top of the flagpole?

Ce b Jii w:“”wuu/“iég.w Jwﬁd/?;!éd,gégl@’/;ﬂe’ 22 & Uiy

(a) Wheel and axle J’gjﬁ J,f", (b) Wedge b
(c) Pulley J (d) Lever 3
Question No.23: Identify the example of wheel and axle from the following.

_Q/&CﬁJJL“»JJ/Qme‘;LuﬁJs 23 & Jir

Question No.24 : Which one of the following is used by crane to lift the heavy load?
e G et b S L L1460 265 of = U5 oine 24 £ Jir
(a) Pulley J; (b) Screw ,J} (c) Gear [ (d) Lever /,.J.

Question No.25: According to laws of reflection, the anglg ofincidenceis _________ to/than the angle of reflection. .
- o2 P ST S ST S G £ 3 £ FR 05 4 Ui
(a) greater |4 (b) smaller E’}?j? (c) equal AV (d) opposite JL{
Question No.26: In which mirror the size of object and image are equal?
S v sl L U Z;‘:l 7l &J:/?Tui‘// J(:26/ JIr
(a) Plane mirror AU (b) Concave mirror s/ {C‘/
(c) Convex mirror e L/..(,f (d) Back view mirror s/ ?).’ _'“C
Question No.27: According to the law of reflection the angle of incidence is equal to: .
Ry T ST J%le&é uiwiﬁj 27 & Jis
(a) reflected ray &J j&gk’ J (b) refracted ray & ﬁd’,{ / J
(c) point of incidence Lf:j&f)’ _JT hb,j;{!. (d) angle of reflection L.Pgbj _JT Jé’..[
Question No.28: Which of the following mirrors is used on blind corners of roads and mountains?
%h/fﬁjgiu?‘amdta&*u/?uiféuﬁ%m u:’/}‘//l/u:’/cﬂ_—utd},?/ﬂ 228/Ji/
(a) Plane mirror YAUA (b) Curved mirror s/ d,/
(c) Concave mirror e ,:6/ (d) Convex mirror e Jg,)/
Question No.29: Which of the following instrument has the most sound energy?
?é"-b)&)c”_'s:a/‘jo/",}tfb’d/,r(w/c’_,u:J‘)'Z'/J) :29/1‘;Jlr‘
(a) Flute U’/L (b) Piano ,J“L: (c) Drum J,Wj (d) Guitar Ju’f
Question No.30: The tail of the comet is in which direction?
?‘agnuﬁw‘//pd/:/(..{! :30/Jir
(a) Towards the Sun J/ U(Z'/JY’ (b) Opposite to the Sun u;f e 2 J@/y
(c) Towards the Earth J) JU:/ (d) Opposite to the Earth u;f o JL’; Ju{j/
Question No.31: Ahmad is visiting Lahore first time. With the help of which technology he will find his way around a new city?

?Kz_fjw:/uu,; uﬁj’&uau d/‘j;’bg J(_‘Ll[/(g/}’c'ﬂ,:}’/ u%‘f‘ji :31/J!r
(a) Global Projecting System (b’/ u@z{{,/“ J,g (b) Global Processing System (b"/ CT:“}/“ J}g
(c) Global Polar System (b"'//'z J,g (d) Global Positioning System (b‘"/ lf‘}J"‘“ji J’,g

Question No.32: A large ball of ice and dust revolving around the Sun is called:
3 yZ = = *
-~ dM ......... )»::(67 ..{i JJ}”’) 29l Gl é}‘;}//i Cuy 32 A J!r‘
~

(a) asteroid jﬂﬁ| (b) satellite S (c) orbit <] (d) comet _b,,o{






SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
SOCIAL STUDIES PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :
1. Read carefully and attempt all questions.
_Q’/Jpaﬂi/(um u‘.‘f’zc;u;_'
2. A question can consist of one or more parts.
_‘Lcﬁﬂ(}:jﬂ{:u%?u}k)afug&ugg)l)’.g_f

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

e U b JJWZJ"?J:_Q/JW 00 & /o8 d6dize ML L iz _r

I Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1

lﬁ}dlr
a ) Write a note on Khawaja Muain-Ud- din(R.A) Chishti. ( 5 Marks)
(4 5).@4‘6:,;4@54?"!,“&&1 22§ GF N E S o (@

b ) Write short notes on the system of government of Delhi Sultans.( 5 Marks)

) .q/ug./“?;/ﬁ(ua K by b (b

Question No: 2
2 / J!r
a ) Describe the classification of rural settlements according to formation: (6 Marks)
6t o = e s L asty §Ust 4l (@

b ) What are rural settlements? discuss in detail:(6 Marks)

(/6):():‘.“{:_ J‘.’.‘ﬁ?:uj dr Y ou (s (b

Question No: 3
3/:} J!r
a ) Describe five important features of the reign of Ghyas- U-Din Balban : (5 Marks)
(/ S)IQ/'/UQ. o) d é& e s gu"L A =L (a
b ) Give a brief introduction of Tughlaq family: (5 Marks)
O 5y S e o~ g st (b

Question No: 4

4/J!r



a ) Write down the reasons of attack by Muslims on Sindh: (5 Marks)
() ek §d2 £ ik s @

b ) Discuss the problems of Razia Sultana's government: (5 Marks)

(A5 Fie Lo § b 2, (b

Question No: 5
5/.'2 Jlr

a) How the Aryans behave with women? Write in details: (Marks 05)

05 A o S0 f 3 b e it LT (@
b ) Discribe the economic system of Aryans: 5 Marks

A5y ok g0 S usLT (b



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
SOCIAL STUDIES PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil : District:

Student Name: Section:

Roll Number: Date:

General Instructions for students : ey S oL A

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

e WO e TG L S Bois 28 L e JEW Z

Example : Which country is located in the north of Pakistan?

S O libo o Ut JE Z el Je
a) India Sy b) Afghanistan u[;ﬁ[;}l

(©) China u;‘f d)iran (i /|

4) Use black/blue ink for writing. Use of lead pencil is not allowed.

_‘Ldja]lgl JJWI&&&C_Q/JWI Kéwu&/dgéié_ﬁ

5) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L slzml e Ut dir & A 2

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each question carries 1.5 marks.

ct A15E et L mir GEW FGDUF U s 1 2

Question No.1: The porminent feature of the continent Australia is that, it is the:
:L.,/:,J/cc"_wr"; ugl/ d/.l}./”‘l’rbjl/ :l/dl/

(a) largest e 4 (b) warmest < r/
(c) smallest < U’,fg’ (d) coldest < | oo
Question No.2: The types of scales for showing the distance on the map are:

g U Sude s S /J@J&Mﬁ 2 A i
(a) Two Iy (b) three uf
(c) five é& (d) seven Sy




Question No.3: The ocean located in the east of Australia is:

e UGS LT 3 A i

(a) Pacific Ocean Ji@f (b) Atlantic Ocean u’jg,q f

(c) Indian Ocean Mf (d) Arctic Ocean d[}?/

Question No.4 : The reason for calculating the international time difference from Greenwich is that:
‘ap;d/éécﬁﬁéé"/d/ g;‘f’)dlfﬂl@f :4/1}J|/

(a) prime meridian passes through it t/)ﬁgjl_,‘.;h i L3 (b) it is highly developed area Sk =L é}' é[%ﬂ

(c) itis center of the world % ufj Loy ,lf) (d) itis near to equator (s _4/“ I L3

Question No.5: A collection of maps in the form of a book is called:

:uji/;ﬁéu?ﬁuﬁfﬁg}ﬁfﬁ/dw

(a) Outline f[; (b) Circle Yir

o“’ b
(c) Impression f (d) Atlas UJ‘I
Question No.6: Itis helpful to find the time difference between the two countries:

:C‘-Jg)/b e z_/pl’” J/ Ky U (VY !6/ J'/
(a) longitude A Js (b) Latitude A SF
(c) direction W (d) Map ;}J

Question No.7: The most popular tourist places are in:

e u.b.l,«d}}” o o 27/:'}Jir‘

(a) plain areas u,{' uju/ 7 (b) coastal areas uﬁ U}U‘ JVL/
(c) mountain areas uﬁ Usy delz{, (d) desert areas uﬁ Jy Updlf
Question No.8: The rocks that contain fossils of animals and plants, are called:
e bl U U1 et Qs = BL S Undle sl Uy UE &P UEG 6 8 4 Ui
(a) chemically formed uf[ﬁg d,p{ (b) organic formed Lﬁlf?. (}VL’
(c) mechanically formed u‘f[ﬁg U(b (d) inorganic formed gﬂlﬁ?. (}VL’;,;
Question No.9: The types of rocks by structure are:

()5 éL (b) 3 o

L d
-

(c) 2 2 (d) 4 e
Question No.10: The plains made of soil deposited by rivers are called:

o LMU!,&-» Py & = (3" én &U d/gﬁ.t‘/: :10/ Jl/
(a) demolition plains u‘/&» U,u{;’ (b) flood plain L‘J‘/ﬁ:"‘ dﬂ;’
(c) delivery plains Wl 4 J’“; (d) desert plains I dl‘;{/
Question No.11: In ancient times snow by rubbing changed many areas into:

o S S S U S sl il A s
(a) Karst Plain O 4 (b) Glacial Plain I J“L%,.f
(c) Coastal Plain O J’L, (d) Flood Plain O dﬂg’
Question No.12: The reason of slowing down of the river Indus in Deltai Indus plain is:

s JLS/C"/ g J.L‘J) Un s &U’l‘.f L i e Lx :12/ J!r’

(a) presence of forests ‘f,}zy J_.,Lfb (b) decrease in slope (+7 {{ugpj

=
(c) presence of rocks ‘;,}2,» Ju,}:ﬁ (d) increase in slope Caz asly {uwj



Question No.13: The Silk highway connects Pakistan with a friendly country:

e 8&44&»/0?’/@2’"/9!/;@ :13/7}J!/

(a) India W (b) Iran OIPA
(c) China o (d) Afghanistan U=
Question No.14 : The ratio of population in developed countries is:

e LA GO U L 85 14 A Ui

(a) low { (b) higher sl J
(c) equal v (d) very high ol J et
Question No.15: Un-inhabited continent of the world is:

29(”’/.4!’} Kl :15 # Jisr
L2

(a) Africa ;@‘/; (b) Asia
(c) Australia ‘L:}«‘/”«T (d) Antarctica @f/@;
Question No.16: The greatest reason behind migration of millions of people from their areas in 2010, was:

S oISt e or S e e Ut 21 § U UFD 2010 216 4 Uir
(a) earthquakes LT Uy (b) the devastation of the flood UP/KD?' Juﬂj
(c) lack of business resources JJJ’/[/, U’/g,,g (d) unemployment _..,J; JU?’/Q
Question No.17: The burning of fuels and absorption of heat by concrete buildings result in:

e 3}4 (‘Zl} o w u,w w7 e u;JLf Jﬁ{.ﬂ/}l i Z cfw,u::l :17/ J!r‘

(a) increase in temperature < o Sl u;f <7 > (b) decrease in temperature < [ o Juﬁ =7 5
(c) moderation of temperature < Wy J/{:,/ N7 >0 (d) no change in temperature (* o7 uj’ ‘J:/gf N7 >0
Question No.18: Population, size, administration and location are the basic characteristics of:

Ut e bor® Sl 0l sl 2B S AT 118 A Ui
(a) village Sus¢ (b) city i

(c) town S (d) hamlet Sus¢ & 3
Question No.19: A very important issue to understand Indus Valley is:
o i1 e S S 19 2 Ui
(a) complicated script Lgl f/ s (I?).s.imi!arities with other (.5/” J/M’ L %/zf:;
el civilizations

b W e Unds

(d) plenty of Civilization stamps and 1 U:ﬁ' /Pﬁ-— JH—/I./‘{?

(c) lack of traces of civilization Jd//t’f{ s — i Tovs
M y L}L{
Question No.20: Indus valley civilization was destroyed by the:

3&-'/0@7 /s.f,,lf d/w}“ (5}‘) 220/} J’)"

(a) Internal factors o Jl/ &)/,C' (b) external factors P J’f &)/'.
(c) external and internal factors P J’lf &,/, n &}J/C’ (d) natural factors P Jlf 3//5
Question No.21: The quality of indus valley land was:

:f ds S S oi St 21 / Jis
(a) Uncultivable =5 B (b) Sandy &

(c) Fertile /’.«:'Jj (d) Rocky J’/é'i



Question No.22: Gautum Budh taught Hindu Society the lesson of:

o U S skr & o 02 A Uiy

(a) cast and creed system {_;OL‘ o3 (b) equality K e lsls
(c) conflicts {4_}5’ é]ﬂ (d) monopoly of Brahmans Kdﬂ, 0/[?1 Juyﬁ/
Question No.23: Ashnaan removes sins in:
i L s ol etz 23 A Uiy

(a) Jainism oot (2 (b) Buddhism e & ok
(c) Sikhism S = f (d) Hinduism PR,
Question No.24 : Hindu society was divided into castes after the arrival of Aryans:

G 7 U35 T S SR flos six 24 A i
(a) two ) (b) nine y
() four o (d) five &L
Question No.25: "I am the breaker of idols not the seller of idols" these were the words of:

& LW _ u.?’u’;/ - un‘;/éc/, e :25/ J!y
(a) Sultan Mehmood Ghaznavi L u’,f/é ,,; b (b) Muhammad Bin Qasim s (“G‘ o V4
(c) Abu Rehman L Gz 4 (d) Raja Dahir L il bl

Question No.26: The father of Razia Sultana was:

(& s sl 5, 26 A iy

(a) Nasir ud-din Mehmood ,,f J M AL (b) Qutab ud-Din Aibak bﬂ“y S A b3
(c) Sultan Altatmash J/}’Jy uw,L, (d) Sultan Balban U)’ u(b/L,
Question No.27: The loose and compromising policy of Feroze Shah Tughluq became the cause of:

d..»‘ u’ﬁjgﬁéim ”} JJ};} ol.éjﬁﬁ,; 127/1'/ Jir‘
(a) the fall of the Delhi Empire K £ Jz, oo obb (b) the rise of the Delhi Empire Ktnf Z Jg, e b
(c) the fall of the slave kingdom KJD) Z JL bk (d) the rise of the slave kingdom K@,/ z JL bl

Question No.28: The successors of the Lodhi family had a great interest in:
:(f/ u?) ]PRCHA Jurf’b Z il RSy, :28/:’; Jl/
(a) art of music o Jl’f,/ /‘j (b) art of war o _’47 u’
(c) architecture c‘_/:; Sj (d) art of painting o d/}‘” /Uj
Question No.29: The base of Islamic architecture in Subcontinent was laid by constructing:
1?&)&'&6//:;&560/'%/5"/. 29 £ Jir
(a) Jamia Masjid Dehli o (S 4;‘" 6‘(? (b) Masjid Wazeer Khan = b /‘;"‘
(c) Badshahi Masjid o j" UZL‘:.)L (d) Masjid Quwatulislam = {»U/U[ é,”. ,6/
Question No.30: The real name of Hzrat Data Ganj Bakhsh was:
:LZ(L‘J"! KJ}'Z};M;:«/’*} :30/:‘;J!r
(a) Syed Ghiassuddin ﬂ.“/m _"‘4“‘ A (b) Syed Ali Bin Usman O[;Z& e J‘ A
(c) Syed Muhammad 4 A (d) Kamaluddin Shah e u:/Jq du/

Question No.31: The popular series of saints found in Subcontinent are:

b B S e Ll b Ut A0 31 A iy

(2)4 o (b)3 &
()6 7 (d)5 éE



Question No.32: The most famous book describing Sufism is:
e ™ 0 e v 32 A Ui
(a) Heer Ranjha L@;’/ﬁ (b) Guru Granth 2‘;4/,/

T Yl .!a
A0 ,“,.L&M) JJ&J < (d) Kashiful Majub V)f}( Jﬂ/

,

(c) Seerat un Nabi



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
TEACHING OF QURAN MAJEED PART - B (Subjective Type)

[Part A:15 Marks Part B: 35 Marks Total: 50 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :
1.Use separate answer sheet for writing answers and give your personal information on it as well.
el e e S &t g S e Ki6dz = i L L iz
2. Read carefully and attempt all questions
S i U gy = F
3. A question can consist of one or more parts
e P by e L L i ]

4. Use black/blue ink for writing answers. Use of lead pencil is not allowed-

_LLU:Z}&JL?’ JJW!&&&-Q/JW! K(}L’Jud’./dgééé

Total Marks: 35 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 30 Minutes I

Instructions in English

U:]T,J/u} ufla ’%J/)SL Jiv ﬂﬁtﬁiagt’du’(@uﬁﬁviggﬂﬁg ’%}/.‘221 J!//zujb,}w/‘ :«L'ﬁcﬁc«ﬂlr‘ égcufoﬂlf/ﬁtuﬁ»/l Ll
-L@p,m(dw.{ugutaunré/loég_;

(2)?4‘-&/. ke U LW u(/(};ié.&bjﬁ! S 26l A v

Qg =T u;(g)(f! s én Jit uk{.fﬁbl I :2/ Jis

(2)?9&&9/&' $S KJﬁJo}J! s 3 A Ul

Qs e Uhor Bat § 2 24 4 Ui

Do e 2 M s F Ui

Q5L W Y ot & B0 M B 6 A i

Qe Si6ou e S eslr b T S SW 507 4 Ui

@)-Ls1w7 § el T EI b€ 5658 A Jir

0.8 3 w' 20 S5 o 250 C;" CE (5):J:”J,z} o2\ § T L5t 9 7 Jis
OX#1 3x? (f 55 0 (}Juu (7 05 0 WAL 34 (w', (g 25t T L3l 110 4 Uiy

0 313 ot FUt0 5 (FU0 P < gl J° (52 20 ol K e\ T S5t 211 A Ui

0 213 f"’"’uu/u/ ("J‘ P u“m 20 (f‘)i BAEwl (5):25 25 one\ 6 el T S5t 212 47 Jis
0 (;”"J' bi#et 0 u:””JuufﬂJ' O Wl ¢ M (SN 22 ame\ 6 kT S50t 113 A Uir



(10) 076 et § b o bd o2 Ut 5o S AT S af 0T 14 4 Ui
(10)_u’35'/’lgKoﬁJ{M,}céuaPuﬁ&ﬁuJaUJ“. A5 A Ui



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
TEACHING OF QURAN MAJEED PART - A (Objective Type)

[Part A:15 Marks Part B: 35 Marks Total: 50 Marks ]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy o7 i Y

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

"L‘l{fu;}u’:dc"‘fd}é'}/wd/@dbé%'ﬁgZ:J!y&@"'m/?/ﬁ_r
e Pt & s, o Je

Example: How many Salah are obligatory for Muslims in a day?

Four A.f (b) Three uf' (2)
Six %7 (d) Five é& 0)

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks: 15 I Part-A (Multiple Choice Questions) I Total Time: 30 minutes I

Instructions: Fifteen (15) Multiple Choice Questions (MCQs) are given in this part. Each question carries one mark.

ce ALKy et s e JE W 15 e Ul

:%fﬁgfégzl/dw

LA 4w @ £ i b L@
7 Ve s
P ur I 2 A
3¢ e () 137 P31 (O 5t ¢ S w2 (@
:‘g(:j” u‘”’"(%l :3/J!r
Lo gir Ao gl e & S0 SEF P @
e st el T U Hiw 4 i
7 (d) ne o ® o @

e & FH 5 A Uy
Z ) Pl e (b) pen (@



:‘L@"‘&‘”K&t 6 & Jir

Sl () iz_/,‘(c) ig/j‘(b) PPy O
e ¢ F w7 £ Ui

% (d) 41 (©) 4z (b) e (@)
:‘Lg’”&%;,;ﬁ 8 & Jir

&= (d) Js (© - () o (@
gm/"guuj/:_.wiL(U.Jtﬁla(;TLJb?/.’vu :9/Jl/

¥ oL@ K 5§ (© Ky (b) Kf’», (a)

:t{/(UJ!{la@)Luul;/L(:?/’ng?;(g;{&b?m :lo/dtr
gebe fEur A g o wE f o

¢ s U e S s F @ UL EL & § AL O
WS et U J(}/(UJI TS :11/:}‘_}!/
25108 (@ 4 (© sut. 09 ) 2 09 @
Yo Ao 6l (5 L B osp e 2 112 A Ul
SR TG e YUl i e 3L iy Gl f_u,,u/iri & @
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SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
URDU PART -B (Subjective Type)

[Part A: 48 Marks Part B: 52 Marks Total: 100 Marks]

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:
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SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 6
URDU PART - A (Objective Type)

[Part A: 48 Marks Part B: 52 Marks Total: 100 Marks]

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:
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